

Chris Anyebinia favour Ohamaka

Mechanical Engineering

191EN006/015

MAT 104

NO 113

$$y = \sin\left(\frac{b}{x}\right), \quad y + \Delta y = \sin\left(\frac{b}{x + \Delta x}\right)^2$$

$$\Delta y = \frac{\sin\left(\frac{b}{x + \Delta x}\right) - y}{(x + \Delta x)^2} = \sin\left(\frac{b}{x + \Delta x}\right) - \sin\left(\frac{b}{x}\right)$$

$$\Delta y = 2 \cos\left(\frac{\frac{b}{x + \Delta x} + \frac{b}{x}}{2}\right) \sin\left(\frac{\frac{b}{x + \Delta x} - \frac{b}{x}}{2}\right)$$

$$\Delta y = 2 \cos\left(\frac{\frac{b}{x^2 + 2x\Delta x + (\Delta x)^2} + \frac{b}{x^2}}{2}\right) \sin\left(\frac{\frac{b}{x^2 + 2x\Delta x + (\Delta x)^2} - \frac{b}{x^2}}{2}\right)$$

$$\Delta y = 2 \cos\left(\frac{b(x^2 + 6x^2 + 12x\Delta x + 6(\Delta x)^2)}{x^2(x^2 + 2x\Delta x + (\Delta x)^2)}\right) \sin\left(\frac{-12x\Delta x - 6(\Delta x)^2}{2(x^2 + 2x\Delta x + (\Delta x)^2)}\right)$$

$$\frac{\Delta y}{\Delta x} = 2 \cos\left(\frac{6(2x^2 + 2x\Delta x + (\Delta x)^2)}{2(x^2 + 2x\Delta x + (\Delta x)^2)}\right) \sin\left(\frac{6(-2x\Delta x - (\Delta x)^2)}{2(x^2 + 2x\Delta x + (\Delta x)^2)}\right)$$

$$\frac{\Delta y}{\Delta x} = 2 \cos\left(\frac{6x^2 + 6x\Delta x + 3(\Delta x)^2}{x^2 + 2x\Delta x + (\Delta x)^2}\right) \sin\left(\frac{-6x\Delta x - 3(\Delta x)^2}{x^2 + 2x\Delta x + (\Delta x)^2}\right)$$

$$\frac{\Delta y}{\Delta x} = 2 \cos\left(\frac{6x^2 + 6x\Delta x + 3(\Delta x)^2}{x^2 + 2x\Delta x + (\Delta x)^2}\right) \sin\left(\frac{-6x - 3\Delta x}{x^2 + 2x\Delta x + (\Delta x)^2}\right)$$
$$x \frac{-6x - 3\Delta x}{x^2 + 2x\Delta x + (\Delta x)^2} \div \frac{-6x - 3\Delta x}{x^2 + 2x\Delta x + (\Delta x)^2}$$

Take lim

$$\Delta x \rightarrow 0$$

$$\frac{\Delta y}{\Delta x} = \left[2 \cos\left(\frac{6x}{x^4}\right) \sin\left(\frac{-6x}{x^4}\right) \right] \left(\frac{-6x}{x^4} \right)$$

$$\frac{\Delta y}{\Delta x} = \left[2 \cos\left(\frac{6x}{x^4}\right) \sin\left(\frac{-6x}{x^4}\right) \right]$$

2 Area (A) = $\int_a^b y \, dx$ where: $x = 4t^3 - t^2$, $y = t^4 + 2t^2$,
 $a = 1$ and $b = 3$

$$\frac{dx}{dt} = 12t^2 - 2t$$

$$dx = (12t^2 - 2t) dt$$

$$A = \int_1^3 (t^4 + 2t^2)(12t^2 - 2t) dt = \int_1^3 (12t^6 - 2t^3 + 24t^4 - 4t^3) dt$$

$$A = \left[\frac{12t^7}{7} - \frac{2t^6}{6} + \frac{24t^5}{5} - \frac{4t^4}{4} \right]_1^3 = \left[\frac{12t^7}{7} - \frac{t^6}{3} + \frac{24t^5}{5} - t^4 \right]_1^3$$

$$A = \left[\frac{12(3)^7}{7} - \frac{1(3)^6}{3} + \frac{24(3)^5}{5} - 3^4 \right] - \left[\frac{12}{7} - \frac{1}{3} + \frac{24}{5} - 1 \right]$$

$$\therefore \text{Area under the curve} = \frac{160536}{35} = 4586.74$$

3 $x = 4t^3 - t^2$

$$y = t^4 + 2t^2$$

$$\frac{dx}{dt} = 12t^2 - 2t$$

$$\frac{dy}{dt} = 4t^3 - 4t$$

$$\frac{dy}{dx} = \frac{dy}{dt} \div \frac{dx}{dt} = \frac{4t^3 + 4t}{12t^2 - 2t} = \frac{2(2t^3 + 2t)}{2(6t^2 - t)} = \frac{2t(2t^2 + 2)}{2t(6t - 1)}$$

$$\frac{dy}{dx} = \frac{2t^2 + 2}{6t - 1}$$